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QUESTION 1

The purpose of a Circumstance Definition is to _________. 

A. define the properties used in a circumstance 

B. define the values available to an end user in the application 

C. define the values used in a circumstance 

D. define the list of all circumstance values for a rule 

Correct Answer: C 

 

QUESTION 2

A client wants to replace the Pega 7 logo in the Case Manager and Case Worker portals. Instead of using the company
logo, the client wants you to use the logos for each the company\\'s operating subsidiaries ?a user in the ABC
subsidiary sees the logo for ABC, and a user in the XYZ subsidiary sees the XYZ logo. 

How do you add the logos to the application? 

A. Upload each logo to a unique section 

B. Upload each logo to the portal record 

C. Reference each logo in a skin 

D. Upload each logo to a unique binary file record 

Correct Answer: A 

 

QUESTION 3

You create a report in a work class that displays the assigned operator and task name for each open case. Which two
ways can you combine data in the Assign-Worklist class for your report? (Choose Two) 

A. Use a class join to the Assign-Worklist class. Specify a join filter where the pxRefObjectKey in the join class is equal
to an object identifier in the work class. 

B. Use a Worklist Assignment association rule to join the Work class to the Assign-Worklist class. 

C. Use a class join to the Assign-Worklist class. Specify a join filter where the Worklist Assignment association rule is
equal to an object identifier in the work class. 

D. Use a Worklist Assignment association rule to join to the Assign-Worklist class. Specify a join filter where the
pxRefObjectKey in the join class is equal to an object identifier in the work class. 

Correct Answer: AB 
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QUESTION 4

In the following example, the HomeIns, HomeInsInt, and Customer rulesets are configured for application validation.
MyCo and MyCoInt are configured for ruleset validation. MyCo lists MyCoInt and Customer as its prerequisites and the
prerequisite for MyCoInt is Pega-ProcessCommander. 

Which of the following statements is correct? 

A. Rules in MyCoInt can reference rules in Customer. 

B. Rules in MyCo can reference rules in HomeInsInt. 

C. Rules in Customer can reference rules in HomeIns. 

D. Rules in MyCo can reference rules in HomeIns. 

Correct Answer: C 

 

QUESTION 5

You are configuring an application to use Get Next Work. The requirement states that operators must always work on
the next highest priority assignment from workbaskets. Which two configuration options do you use to select the highest-
priority assignment for users? (Choose two.) 

A. Configure the operator ID record to get work from workbaskets first 

B. Configure the operator ID record so the operator is available to receive work 
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C. Configure a ToWorkbasket router for the assignments 

D. Configure a ToWorkGroup router for the assignments 

Correct Answer: BD 

Latest
PEGAPCSSA80V1_2019
Dumps

PEGAPCSSA80V1_2019
PDF Dumps

PEGAPCSSA80V1_2019
VCE Dumps

Powered by TCPDF (www.tcpdf.org)

Latest PEGAPCSSA80V1_2019 Dumps | PEGAPCSSA80V1_2019 PDF Dumps | PEGAPCSSA80V1_2019 VCE
Dumps

                               4 / 4

https://www.geekcert.com/pegapcssa80v1_2019.html
https://www.geekcert.com/pegapcssa80v1_2019.html
https://www.geekcert.com/pegapcssa80v1_2019.html
https://www.geekcert.com/pegapcssa80v1_2019.html
https://www.geekcert.com/pegapcssa80v1_2019.html
https://www.geekcert.com/pegapcssa80v1_2019.html
https://www.geekcert.com/pegapcssa80v1_2019.html
http://www.tcpdf.org
https://www.geekcert.com/pegapcssa80v1_2019.html
https://www.geekcert.com/pegapcssa80v1_2019.html
https://www.geekcert.com/pegapcssa80v1_2019.html
https://www.geekcert.com/pegapcssa80v1_2019.html

